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(TEME £ 375,910,000 M)

£ Lo i3] E: M2 | B & %8 & £8 g &
EEIEE 1 = 278,895,899
* & E 1 = 97,014,101
HEREE 1 = 39,073,814
RiZERE 1 =% 19,232,080
—REEE 1 = 38,708,207
& B (I4+1) 375,910,000
HEMRMENEE | 10 % 1 = 37,591,000
w8 (I+04m) 413,501,000
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(2 B BINER)
No. % FR HE | B & &8 & 3 i &
BEETEE
Al |[BEIEFHERED) 1 = -
A2 (BETE(RERESD) 1 = 266,015,922
Bl |ERZREIE (FHERES) | =X -
B2 [EXHRmIE(BUERED) 1 = 2,730,073
Cl |HMMERETISE (HERES) | =X —
C2 [HMmRis TE BUERED) 1 = 10,149,904
B 278,895,899
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(FFHAIANER)
No. £ 1 = | B il 25 & ] g &
A2 BRI EE(BEIEFERERES)
1 |BEISE 1 = 266,015,922
5 266,015,922

FMEMT £HO08 AILEER




(2 B BINER)
No. % FR HE | B & &8 & 3 i &
B2 |EIEE (BERHBIFIERESD)
1 |REROBELISE 1 = 466,118
2 [REBROBEIE 1 = 1,115,371
3 |REHO-1BEIE 1 2 374,274
4 RERO-2ETIE 1 = 172,206
5 (BEREFSOREIE 1 = 250,548
6 [MRERBEIE 1 = 223,062
7 |SMERETS 1 = 279,396
8 |EXEEHLEE 1 = A 253,802
9 [4METE 1 E 102,900
B 2,730,073
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(FFHAIANER)
No. £ 1 = | B & 25 & ] g &
C2 |EEIRE (MHMRERERESD)
1 [#WERELISE 1 = 10,149,904
£ 10,149,904

FMEMT £HO08 AILEER




(Bl B BIRER)

No. £ 1 = | B il 25 & ] g &
BEIS
EEIZEEHFEREMAEIE)

1 [BRAIE (BEH) 1 = 104,701,833
ORW)

2 |REMUDE (BRER) 1 = 44,864,229
®-@

3 |BAILE(RER 1 = 43,038,442
-1-Q0-2

4 |REMUDE (BRER) 1 = 9,695,398
-1-@0-2

5 %WI%(%S@EHIEH) 1 = 2,639,043

6 %E*ﬂtﬂﬁ:\%(ﬁﬁﬁ%ﬁi@ﬁ) 1 = 972,438

7 %1$I$(EWE§JJ1%) 1 = 11,072,193

8 %EHM&:\E(EWE@J%) 1 = 3,169,101

9 |fRAIE(T—ILE) 1 = 2,602,897

10 (REMULDE (T—ILE) 1 = 2,923,612

1 [BBAIE(T—ILHER) 1 = 228,922

12 |REMLHE (T—ILHER) 1 = 114,462

13 |fRAITE (44 8) 1 = 14,877,995

14 (REMULSE (SME) 1 =% 9,810,743

15 |BEIE 1 = 15,304,614

B 266,015,922




(BB BANER)
No. % FR 2| B %8 % " &
(1) [EATE KBTS 1 2 75,933
(2) BV HFRERIELE 1 = 97,375
Q) [BATRIBETE 1 2 292,810
&t 466,118
2 [REEOBMEIS
(1) [EATEHRERIE 1 2 157,065
(2) BN HFRERIE LTS 1 2 394,726
Q) [BATRIBETE 1 5 563,580
&t 1,115,871
3 [KRERO-1BEIE
(1) [EATEHRERIE 1 2 236,254
2) | B hHRBIFLE 1 = 42,120
Q) [BATRIBTE 1 £ ¥ 95,900
&t 374,274

MEM £H-3<0E Adkg




(BB BANER)

No. % FR 2| B %8 % & &

4 [KREBRO-2MEISE

(1) [EATE KBTS 1 = 45,846

2) [BXTRIBTE 1 = 126,360
&t 172,206

5 |BENEFHEORELISE

(1) [EATEHRERIE 1 2 83,628

2) [BXTRIBTE 1 2 166,920
&t 250,548

6 [MRERBEIE

(1) [EATEHRERE LS 1 = 110,199

(2) BV hERERETE 1 2 77,863

Q) [BEXTRIBTE 1 2 35,000
&t 223,062

MEM £H-3<0E Adkg




(& B AIAER)

No. £ = 25 & ) g &
7 |SMEREIS
(1) |BITHRERELIS 3,500
(2) |BITERIELSE 42208
(3) |IBNELERRRELSE 233,688
&t 279,396
8 |EXEEYVNIEE A 253,802
&t A 253,802
NEIE 102,900
B 102,900
8 & 2,730,073




(Bl B BIRER)
No. £ 1 = | B & 25 & ] g &
BEWERIE TS
EEIFEEERSHALISE)
I 10) 1 = 2,853,270
2 |BREEO 1 = 3,339,547
3 |BREHW-1. @-2 1 = 2,003,793
4 |[HEBHEQ 1 = 953,579
5 |4+ 1 = 999,715
B 10,149,904




